[d° p_/dndeC

Ratio to ATLAS

900 GeV pp Underlying Event
14 Tt Tt T T T T | Tt Tt T T T T | T 1T T 1T 7T 17 | 9
c
B o
o Z(pT) vsA@(In| <2.5,p_>0.5GeV,p_>2GeV) _g
1.2— m  ATLAS — §
— —4A— Pythia 6.428 370 N
| -8~ Pythia 6.428 391 1=
1 Pythia 6.428 default ] ;
— »- Pythia 6.428 pro-q2o - §
B Bl
0.8 — |

mcplots.cern.ch [arXiv:1306.3436]

A L .
= T T T T | T T —+1 | T T T T | =

2 £ -2

1 . A A A A_A A A A A " 1
- 44 F ML/ s *Elﬂ E i [T\ ‘l‘“‘ A \ —
—Aﬁx&ﬁ;@ . @Eﬁf-’% 9 e B g 4[5%] Aﬁ%—

0.5 — —0.5
| " 1 1 1 1 | 1 1 1 1 " | " 1 1 1 1 |
0 1 2 3

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


